&P
addazy1

Reasoning Mega Quiz for SSC CHSL (Solutions)

S1. Ans.(b)
Sol. Influenza is called by Virus
Ringworm is caused by Fungi

S2. Ans.(c)
Sol.
+2,+1, +2, +1 series

S3. Ans.(b)
Sol.
11°-1=120
13*-1=168
S4. Ans.(a)
Sol.

Chicken — Hen}Male— Female
Horse — Mare J relationship

S5. Ans.(b)
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| +2_|
+3
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+3
S6. Ans.(c) 6 Months Subscription

Sol.
167 = 256 312 =951

(16 +1)* + 1 =289 + 1 = 290 (31+1)* +1=1025 SSC CGL
S7. Ans.0) TIER-II MAHA PACK

Sol. Rustle sound is created by leaves.

Thunder sound is created by clouds. Test Series, Live Classes,

Video Course, Ebooks

S8. Ans.(c)
Sol. + 1 series

Bilingual (with e-Books)
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S9. Ans.(d)
Sol.
3*4+3=30;7"4+7 =350

S10. Ans.(b)
Sol.
+5,+4,+3, +2 series

S11. Ans.(c)
Sol.

Ramanujan — Mathematician
Sushruta — Physician

S12. Ans.(a)
Sol.

-2 series

S$13. Ans.(b)
Sol.

1082 = 11664
1122 = 12544

S14. Ans.(b)
Sol. Chisel is not used by Doctor

S15. Ans.(a)
Sol. All are divisible by the given numbers but 48 is not divisible by 14.

$16. Ans.(d)
Sol.

5. Official

1. opperate
3. Oracle

4. Otis

2. Oyster

S17. Ans.(b)
Sol. ‘SPORTS’; There is no double ‘S’ in the given word.

oo Ans(@ ENGLISH

1+2+3 +4 45 +6 +142+3 +4+5

BANGED T_IL LTS NEETU SINGH
12" May

] TKQTCTC XX 0K U
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+1+2+3 +4 +5

5 Y
DEUVT
$19. Ans.(c)
Sol.

1+7+3+6=17
4+1+5+6=16
4+1+3+2=10

S20. Ans.(b)
Sol.

Papers which are hard =9 + 14
=23

S21. Ans.(b)
Sol.

3F =27

5% =125
6° = 216

7% = 343 # 49.

S22. Ans.(c)
Sol.
5. Stamp

3. Stark

4. Stored
1. Strain
2. Strom

S23. Ans.(b)

Sol.
11=24+8+1

=0+4+5
=9

S24. Ans.(b)
Sol.
5+2+6+11=24

13+6+1+4=24
B+5+4+7=24
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S25. Ans.(d) TEST SERIES
Sol. ‘&’ will be opposite to '*, Bilingual

S26. Ans.(c)

Sol. ‘3’ represents steel bottles which are caps SSC CGL 20]9"'20
S27. Ans.(b) PRI ME

Sol. 14 triangles 400+ TOTAL TESTS
S28. Ans.

(@) Validity : 12 Months
S29. Ans.(b)
$30. Ans.(d)
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